
PACK P/M

1
Wired Hand 

Control，有线控制器
M8X132 30773 Plastic+Metal 1 F P

2 Transformer ，变压器 M8X132 51016 Plastic+Metal 1 F M

3 Power Cord，电源线 M8X132 50975 Plastic+Metal 1 G M

5 Head Motor，头部电机 M8X132 30774 Plastic+Metal 1 F P

6 Leg，11.3"铁床脚 M8X132 51033 Metal 6 F M

7 Retainer Bar，黑色床挡杆 M8X132 51007 Metal 1 F M

8
Bracket 

w/screws，档杆座带螺钉
M8X132 50981 Plastic+Metal 2 G M

9

Bolt 

w/nut、pushing，电机螺栓

带螺母，衬套

M8X132 51025 Plastic+Metal 2 G M

10
Bolt w/nut、washer 

M10X27，螺栓带螺母，衬套
M8X132 51026 Plastic+Metal 2 G M

11
Bolt w/nut、washer 

M10X32，螺栓带螺母，衬套
M8X132 51027 Plastic+Metal 6 G M

12 Gum Sleeve，橡胶套管 M8X132 51029 Rubber 2 G M

13 Pipe Stopper，管塞 M8X132 51011 Plastic 4 G M

14
Roller gasket 

w/screws，滚轮垫片带螺钉
M8X132 51012 Plastic+Metal 2 F M

15 Cotter Pin，回型卡销 M8X132 51013 Metal 4 G M

REPLACEMENT PART DESCRIPTION FORM

MODEL #: M8X132
FACTORY USE ONLY!!

ASHLEY
® All Rights Reserved. July 2018 Page 1 Of 1

PART# DESCRIPTION USED ON: MRP# MATERIAL QTY.

1
2

12

4

14

11

8

10 9 13

5

3 4

6

5 7

8 9 10 11 12 13 14


